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General Instructions to Candidates :

® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully,
® (alculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions 1s also provided.
® Give equations wherever necessary.
® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall. Hsslive.in
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Answer any 8 questions from 1 to 10. Each carries 1 score. (8x1=8) 1 2)®@3 10 Aeow)es cacymgled agom®ilels 8 (IRaTIm 2ODOHDE ]
3 (8x1=8)
| T'he founding father of modern economics 1 quaaod o,
. @pw)mle momiomle waMpamInm allmoai agmm caldlod @ROHa SN
(8) J.M. Keynes (b) J.B. Say
(a) OR.af)o. OHDIMBAV (b) em.emil. &V
-\\ .
(¢} Adam Smith (d) Amarthya Sen (©) @ mylony (d) @padomy 6L
mii, - 2,  ®96% al0@)MAIRITE al)0d AUTRIHHUDES DBIANDEMo
2. Which of the following is example for complementary goods ?
(a) 2l0@®)o MHdafl@)o
(2) Tea and Coffee (b) Pen and Ink (b)  GaIDW) Ao
(¢) Prvate bus and KSRTC bus (d) Shoe and Chappals (€)  96nIAIG MICPIo H.af)aV.ARA.S1.U erUqRle
(d) au)0)o O21Blaflo
3. The nputs that a firm uses in the production process are called 3. 80) 20308 (I3 2ePAHWIMIQ alcoUTlanan  MICAIVIRHENOS
(2) Production function (b) Factors of production | (DWBalSIOM) AlOWAM Cal®
'a (a) 9esH wdamo 3 (b) ©@BalIBS 2LISHANUD
(c) Uity (d) Consumption " 1sliye in
i | (€) ©aIW)AH® i = (d) ©alaEIWo
t B "N
R .,
- ' 4. aoyaf 100 aJalai
- Indhfference curve slopes downwards from . GAOAGEND GNReg S
(@) QEeI®) AIED MIaN) NS®) AUDCTINAS
(@) mnght to left (b) parallel to x-axis §
(b) ‘X’ @RS&HOMIM TLAXHOo
| (¢) left to night (d) vertical shape (c) MS® AUWED AN AULIM) AUUDCDTINEE
:
f

(d) elosn ®)Caterm

S The Central Bank of India is

— P —

3. IIW)OS CHMBEMIIBHINM Cald

(a) State Bank of India (b) Kerala Bank (a) ©qRY MIIB: Boal DM (b) caogmion

(¢) Reserve Bank of Indin (d)  Indian Bank 5 cooigl Wi o) Rl o

28




6. @ OISOTIOLI TLOWM CILAIMANBIOHSW)o BIPOBS)TNAHBOSWo HNEHNIBWOW!
O The record of trade in goods and services and transfer payments 1s known as

V)M ANMMNDET
(a) Capital account (b) Investment () DEIWM ERBVEE (b) fladaiato
(¢) Balance of Payment (d) Current Account (c) @wsal o) oo d) @0 Gﬁ' ks s i
7. Percentage of deposits which a bank must keep as cash reserves within the bank is 7. mp®les dlessinonlon 6oy dumim woA0Me  aleMOTINR D} DTS
wr , )1 BN BIE).
(a) Statutory Liquidity Ratio (b) Cash Reserve Ratio
(a) lacmMaLI® (BT @RMAIOMo (b) &OYH@ WMIMald®o
(¢} Credit Creation (d) Balance Sheet 5 G
(c) ey auiaylaadd (d) ensosIBav adlQ

R ' : .
Find the odd one : o 995)«33@19«) 6RO ).

(a) Unemployment allowance (b) Price support (a) emovielejy (b) ®oem)ailel
(¢) Old age pension (d) Scholarship (€) QUIBWBIBHIL! H1AIBat(d Hsdfl). eqpogdatilaf
slive. i,
it
" WW.hssliy c.in \\
' .
. | :
9.  Choose the correct from the following : 9. ®06¢% aoWMAUVIG NAIRVIVD HBMOHETNS}EMNE
(@) GNP = GDP - aflesud @rg aIo)@omo
(a) GNP = GDP - Net factor income from abroad e
;/ (b) GNP = GDP - em@aomo
(b) GNP = GDP - depreciation 3
L ) (c) GNP = GDP + com»@@aomo

ot

(c) GNP = GDP + depreciation (d) GNP = GDP + afleru @Q ald)aomo

(d) GNP = GDP + Net factor income from abroad

10. &) Ao @MY (IBIM AIBOBIOL TLIWOREM LI0R CMSIM Gald@ag

4

10. The point on the supply curve at which a firm earns only normal profit is called il
- | (a) oHg AWM Calowiag (b) eEuas’ oaem eatomiad
(a) Shut down point (b) Break-even point
(c) MUOWOBEM RID@o (d) @RIVOWOIREM IO
| (¢c) Normal profit (d) Abnormal profit
| 235 S P.T.O.
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Answer any 4 questions from 11 to 15, Each carries 2 scores, (4 x2=8§) 11 a)m@d 15 a1o0w)06 6aloeiemalod agamales 4 nmggmmlm‘gmo@mqmga.

\ . , 2 Medod allo., (4 x2=28)
11, Distinguish between micro economics and macro ¢conomics.

1. ou)omd muomuonilas vdoIRAe MUO)El TLOMIDTHE: VDOIRAIe. MIDDAo 121G,

12, Write down two features of perfect competition. ” v
12, al@landam amoue @&emiogomleng eems ANEUDEHDBUD nf)9)@)cd.

13.  Point out the four major sectors in an economy according to the macro economic point 3. muojeimomioie woqyenien alleamonics gen Dol (WO CAQISIBA

of view, 2 )6TEl B 696 .

| ] a0D6Mo af)PIEN.
14. Define Intermediate goods. Write down one example for it. 14.  @RMEOG AURNSNUD af)TNOTS )1 ? B0} 239 ° af)$30%

15. ofl@)ole®ma ao)@omomIm EME” §BIANQMEIBUD af)$)®)d.
15. Wnite down two examples for non tax revenue.

16 2a)®@3 20 QI9OW)BH G103 IBSIM3 aBO@EHIELS 4 af)INTDIM DOTNOHALI®) >

Answer any 4 questions from 16 to 20. Each carries 3 scores. 4x3=12) 3 avaasd allme. _\:‘1 Ive, in (4 x3=12)
Wi b, slive.
16. Discuss the Central problems of an economy. I 16. ®) LauAATLILNWTHEI @RSIATVOOM TuomIBTIE (I QEBHB AR
Hiss — .
17. Draw a demand curve. State the law of demand. 17. 80)e2108M Ql@o USR] ? a198M MDA (INRIQ{land.

. @RWIA GaldBMAle @RWI@ (IBIMAIL MIADMA o Haldd
18. Distinguish between excess demand and excess supply. 18 3 3 3o ©aIQ})

19. &) afleasuer qumid AiAIMORINE! AUMBIMIHINM 210E@1@ (IAUIOTTHOM all(®o

19. Draw a circular flow of income in two sector model. %
AUAAN) .

20. What is the difference between Ex-ante investment and Ex-post investment ? 20. af)ey @Rl Micaall)o (@M ofledsinlo) af)htaloqy dleatdialal)e (@LOIAmO

mlceMalo) TIMELNSS QI PTVo nf)9)D)d.
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Answer any 4 questions from 21 to 25. Each carries 4 scores. (4 x4=16) 21 2> 25 auoow)on Cal033emBl@d agemeslel)o 4 Af)IRTTIM QODHOHAPL M.

4(“5&(9)3(8(1"@0. (4;(4:16)
21. Diagrammatically explain Consumer’s equilibrium.

21. @aledasmallenng cuvemelmocimunam 2imomland qvanowemmoes allalldles)a.

22. Find out Marginal Product (MP) and Average Product (AP). 22. aVlaom 2e|mmo (MP) varowd D@30 Mo (AP) ag)ariial @sne)nllsSlen)s..

Labour Total Product Average Product Marginal product O®YIEE | HBTMo 9@‘,}]“"’0 “RINB] RABajaNo nJlaam R@dalms
(TP) AP (MP)
(TP) (AP) (MP) ! (s 1 |
0 0 i 1 s
0 0 - = 1 5 2 W, |
B =1
1 5 > Z 2 10 - -
3 1% =t
2 10 2 . { L 40 E |
~t 4 50 ~ [ -~
? - 9 % 5 57 3 -
- 50 - =
4 4
. & BHQEMIGIe M mupWlailenmm  fLISE alq)
5 57 ui 3 23. &80 ePsaeWMIglan (a @O il > ) ) 08 alg
allaudles)s. —
i 'w.f.."‘sfi'o c.in e ———
23. Explain the determinants of a firm’s supply curve. Hse!'o o - 24. »aemag snuawdlos allgen 0w @IWoMea|s BNANA alf)Bla{lae).
WWwWw. liLLive ih "-

24. Fill the components of the government budget.

Government Budget
Capital budget

: G Revenue Capita
expenditure Receipts

B
Expenditure
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. i ' int out the Components of aggregate demand, in two " 25. afleasuer aquvousanal »
25, Define Aggregate Demand and point out the p gereg SUTUODIE 02000 GaldBMe  AgOATAT P —

20T GalOBMBNETG eISaamud 2))6TEl06 6.

26
2®@3 30 AUOOW)RH 62103 yEREIH3 WPBOOBIENS 4 Ag)SNOWIMN DTMVHAY)®) .

Answer any 4 questions from 26 to 30. Each carries 5 scores. (4 x5=20) 2
¥ S avea:0a3 aflm.. (4 x 5=20)
26. Find out Total Variable Cost (TVC) L 26 amenisene
Total Fixed Cost (TFC), §200Mo Afleeaed: afleni’ (TVC)
Average Fixed Cost (AFC), ‘ ©2000 audle afleiai (TFC),
Average Variable Cost (AVC) & : Dao0al qudle afleial’ (AFC),
| & W] afleedsd aflelnl’ (AVC) &
Short run Marginal Cost (SMC) %\é
}‘ (OaVI&0El Mlaam aflelal’(SMC)
Output TFC TVC TC AFC AVC SMC |
h = 3
L L2 2WqjMe | TFC | TVC | TC | AFC | AVC | SMC
0 10 - 10 — = - ¢ + ik 1
L2 f +- 5 |
0 10 Hsslive.ird 0 S _ i
: B T 4 B ¥ P — I e i
jL VW z!\ﬂ\czn T
: 1 - - 20 ~ - o
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! St |
-y . 2 - ~ 25 > § i
=i
; 3 ~ —~ 30 - - &
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29,

30,

31.

235

Explain the three conditions of profit maximization of firms in perfect competition with

the help of diagrams in short run.

Diagrammatically explain price ceiling and price floor.

What are the effects of Autonomous change in Aggregate demand on income and

output ?

“Different countries have different methods of determining their currency’s exchange
rate,” — What are the different types of exchange rate ? Diagrammatically explain any

one,
Hsslive. in
o "Li-JlVl- in
Answer any 2 questions from 31 to 33. Each carries 8 scores. (2x8=16)

A consumer wants to consume two goods. The prices of two goods are T 3 and T 4. The

consumer’s income is T 20, Find out the following :

(a) Write down all the bundles.
(b) Write down the equations of the budget line.

(c) Draw the budget line and state what is the slope of budget line.
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(OTUPBIRIDBANE  alomoniufl epnes cmsymailangs  adladen  BGEALD

SOMIOBTTIOG MM ARAUTUDSRB 2 NN TUaODENOES flidlon)s.

- aat

@oalles, moemjafiel agarias al@e aies) aflvwsacee)m.

QUDIACM®D 20Qo  AUBMIMATIRYe D IBMOTIL)e DMEOSHAN  (AISIUTBUD

nmm%f)o ?

aflaflw eoiemglad allaflw meowlad erem @RS Gomdavles allmlalo
dlese adldemalenma. allmlzle dless wmldsmaienm &R afemede ?
aBOMEHEl)e A1) Aol WRWNODHF MaNIWETNINS AflIR]ED)S:.

Hsslive.in

B ————

Wiy ‘[lﬁh\'C“l

31 2)a@3 33 POW)R C21BMSIA3 aBOMEIENL 2 a)FPATIM QTMROAE) ).

8 nvea93 allme. (2x8=16)

80) DaICRISMON] OME  TLOWMIBUWB  AOBBIAUOM  ARWAKIANIN). RES)

roWmemE)es allel @LoA@ae T 3 @ T 4 Qo AREM. RaIERIG®OANNN AIR)AOM.

¥ 20 ag)®)@3 ®I6Y alOWINA BN}
(@) ©nlceoamANO af)gJo MIMEILNDBIe af) Y.
(b) iAWY EOLINS MAAG P af) IO

(c) MIAVERY HOHEI QUAW AN miwRg eeeirlong aidlal’ TORUES )Ty,

13
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32 Write down the three identities of calculating the G.D.P of a country by the three

32. a0 a®yemlond ed.avl.afl.ox ARBINMDIMBS MM DB n)OMEJIe ?
methods. Explain any two metho@k ,

e OB 0ie” Ao aflaislos)e.

»
o=

AERAY

33 (A) What are the functions of Reserve Bank of India 7 Write any four functions.

| = 33, (A) olaudg] e @oa0 EHomes wdznaned af)HANEJ00 ? aBOMEILN0 4 af)élNo
(B} ‘Using Monetary Policy, Reserve Bank of India controls money supply.’ How 7

. : N 0)91M)d.
Write any four.

(B) @@06mIgal caldg@ladl (atemmao) palc@oudla) dlavdqf miom 80a0  gNam)

@ISO aleMHODD MIW(ATIHNMD afIBOM ? af)d®ESIEN 4 af)8lRo af)F)@)e.
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